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Time: 120 Minutes Max. Marks: 100

INSTRUCTIONS TO CANBIDATES
Read the following instructions carefully before you open
the test-booklet.

§.  Answers are to be given on a separate OMR sheet.

2. Please follow the instructions given on the OMR
sheet for marking the answers,

3. Write your eight-digit roll number as allotted to you
in the admission card very clearly on the test-beolklet
and darken the appropriate circles on the OMR shest
as per instructions given.

4, Write down and darken test-bookdet number in the
appropriate circles on the OMR sheet as per
instructions given.

5., There arc 100 questions in this test. All are
compulsory.
6. Since the time allotted for this question paper isvery
’ limited you should make the best use of it by not
spending too much time on any one question.

7. Rough work can be donc anywhere in the test-
booeklet but not on the OMR sheet.

8. Each correct answer will be awarded one mark.
9. THERE WILL BE NO NEGATIVE MARKING.

10 Please return only the OMR sheet to the invigilator
after the test.

1. English version of the question paper will be
considered as final in case.of any dispute arising out
of variation in translated version.

PLEASE TURN OVER THE PAGE AND START YOUR
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Roll No. et wore

Booklet My
| 152698

Dergrn 9dlen
(e X & FaenRidl & frg)
w120 e srfbrerma afe: 100
irfelal & e se@er
w-gftae @ien ¥ uger, Pefalen erpell

e W ufge

L et TR oret SNTHeIY-UT W A §)

2. oy e fafE oW ¥ R siawen-um W
T g rgeil w0 arpTer )

3. fru oy Frdell & oTTER oMees waw-uE W U g
T ans-afeRa T v FOwE-giRE ol
algwsnt-m W) ferpe we ey 4 fafan R
I et 1 eren ey

4 fw o el % omER offuwerws W
we-gfE ge fafee ol suge el s e
sl ’ -

S zm when ¥ 100 wour 21 asht e st f

6. Hfr 3@ v & o Freifa e gz e
TH I W EA SHuem T A A

. v wd o ¥ W o f e 8,

Ry STUHTR-UT /70T HITEH WA
8 yew et IW % fow o oiw wRE TR o
9. Tora s e Terg e ot e @ Smem
10, wuen when ¥ wpH oheel SUHNC-T B
Fritres =t awg St
1L g denr § SRR ¥ 53 el off fe = faf
o, TR o STl wwRw w1 Fofas e s
T TS ToTET, I U W e Wi

S,

. NCERT 2019 o
The copyright of the contents of this booklet rests with the NCERT and no part of it shouid be used by anybedy in
any manner whatsoever without the prior permission of the NCERT. The items are prepared with best expertise. In

case of any dispuie the opinion of the experts appointed by NCERT will be final.

13-15-MAT-ENG-HIN

5107 TREN S-—MAT-Eng-Hin—1A




8107 TREN 8—MAT-Eng-Hin-18

1. If,
C+0=10
O+0+0=10
Ox[-Ax0O=5§
then, the value of A will be .

1.5
2.5
5

7.5

Ealbadi adie

2. How many parallelograms are there in the
given figure?

0+0=10
O+0+0=10
OxD-Ax0=5

q AH HE B

1.5

7.5

2.+ & s A f T g ¥

P
(=2

3. A newspaper has 6 sheets consisting of
24 pages in total. If page number 17 of
that newspaper is missing then find the set
of missing pages in that newspaper, from
the alternatives given below:

6,7,16,17

7,8,17,18

,9,17, 18

1.
2
3. 8

4. 9,10,16,17
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I
2.
3. 16
"4,

3. U YWER 9 H 24 U5 ¥ S B W 6

2 gl (AR) W 9§ onrR wHeR ww @

© Y Her 17 9@ 8 W, @ fu o fomea

93 wER T R W IS % WHE W
g .

1. 6,7,16,17
2. 7,817, 18
3. 8,9,17,18
4. 9,10, 16,17




4. The given figure in the question has five 4, wgy ¥ T ey o W oad oik =w
squares and four equilateral triangles. | '
squares and two tyjlang]es are sh:dez.?;;z mﬁgﬁ ei%é?ﬁ sﬁaﬁwgﬁ ﬂ; 6. - By .stud)fing the ﬁgur.e and number &, Cﬂ@ﬁr AR W W e W Sy Exc
figure is folded along the dividing lines, ke wer wm wwd o W 90° W owemr relationship, find the missing number *?*: T WG 4P [ SIS
the squares by 90° and triangles by 45° so Bt w450 w wer T oo T §g | ‘ »
as to form a closed three, dimensional Prommarty A T W‘I' ¥ ae w5
object. The object is then placed with it TR e g o ge i s

apex pointing towards your left. Which - T i w1 fomed & < T st 4 @
One among the figures given in the F- BT 2w 1w 22

alternatives can be seen?

1. 5 1..5
2. 6 2. 6
3.9 3.9
4. 12 4, 12
1 ; . 7. The opposite faces of Dice X are: . 7. 9 X % wimE wew
' [(5,2), (6,3), (4,1)]
, [(5,2),(6,3), (4,1)] T Y % e wew 8
; The opposite faces of Dice Y are: [(3,3), (4, 1), (6, 2)] )
(G, 5), (4, 1), 6, 2)] A T Sl & v @ e

: BRI F 9w ey T X ok
Which figure can represent b(}th Dice X S y?:ﬁg:g ) N _%;

and Dice Y with faces shown below?
3 4.
4 4 4 4
3 6
6 2 3 5 2 3
5. Complete the folloWingseries: 5. Terfafaa s w1 @
6,24,60, 2,210 6,24. 60, 2. 210 B A B c D
I. 96
2. 120 ; ;)g() I A 1.
3. 140 3 140 2. B 2. B
4. 160 4. 160 3 e s o
4. D 4. D
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18,

i1

R 8
+ N
-

o o
— v —
n 5

3.7.8 4 9

then, find the code for TU R N 8 from the
given alternatives provided there is no
carrying over in the given addition using
letter codes.

I. 13625

2. 65231

3. 16352

4. 53126

A comparison of ages of A, B, C, D and E
are as follows.

I B'sageis half the age of A,

H. B's age is 1% times the age of C.

UL D's age is 12 years less than C.

IV. D's age is 1% times the age of E. -

V. The age of Eis 12 years.

With the given data what will be the

difference in the ages of A.and C?

I. 64
2. 60
3. 40
4. 36

If CLOUD = 1}, BURST = 16 and
ACE = 3, then MONSQON =9

1
2.
3..17
4
Three dice are rolled simultaneously and
the numbers shown on all the three dice

are added, then the total number of
possible ways to have a sum of 7 is .

1.

2,13
3. 1§
4. 16
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10.

i1

SR
RSSTU
+ NRST
+ R T S
37 8 49
e R g e TR TURNS &
foe e wrsw, sfs sw-ael @@ fra m
A ¥ w¥ wfue 7@ forn rn 3
I 13625
2. 65231
3. 16352
4 53126

A,B,C,DSﬁTEHﬁmaﬁgm
Freafafem 8- : :

L B omg A= omg § omit 31

L BFom C %t arg # 1% 0 3

. DHR o™ C & amg 3 1298 57 &

IV. D% ong E %1 g &t 1% T &1

V. E®lamg 2ad &
ﬁqwaﬁ@ﬁ#aﬂwu"{Aaﬁrcaﬁm
W FqIEY;

1. 64

2. 60

3. 40

4. 36

¥R CLOUD = iI, BURST = 16 @

ACE =3 &, & MONSOON = 7

113

2. 15

317

419

A T g

ﬁmmﬁ*@wv@rﬁﬁmm
T, AR 7 W w % v wie
W T G T - :

1. 12
2. 13
3. is
4. 16

12. A comparison of marks scored by 12, fEelt whan W W, svEw, Wiw v wwRn

13.

Gauri, Aaban, Seerat and Alvina in an
examination is as follows.

I Gauri has scored 15 marks less than
Aaban,
II. Gauri has scored 20 marks more than

Seerat.
[, Alvina has scored 10 marks less than

Seerat.

To decide who has scored the highest
marks, identify the statement from those
given in the alternatives in respect of
sufficiency of data.

1. Data given in I and I are sufficient.
Data given in I and 1} are sufficient.

Data given in If and 111 are sufficient.

BN

Data given in I, II' and I are

sufficient.

The number in the place of *?° should
be .

4 7
7 6 9 8
5 3 4 4
10 5
1. 30
2. 32
3. 34
4. 36
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13.

B W e me sfel W) qemn Fiefafe

2

LMY s (5 o wa we ey §

1L Y die @ 20 siw afers wrw fre £

NLuafen & e 9 10 of% %0 o fFu
2

ug fofg @R & forw o frad waifus ot

ww fre € el # waiem & s

fosredt A fw Mg weml ¥ @, swgm waw

& gEEE s

118l 11 ¥ R g siene wata )
2. 19 I ¥ R g s vl
3,01 R 11 H R g snd i
4.1,uaﬂunﬁﬁqmaﬁm®,m%s

T T <2 W
6

8 5

4 3
2

1. 30

2. 32

3. 34

4. 36




14. Find out which of i ing figure - X ‘
of the following figures 14, sy fF A erpfEl § @ R 17. Study the following information. 17. frafafes gon &1 sweags wifve;

can be formed from the pieces given in the

figure *X°? gty sy X § R v gwel @ g W
e & ) AQR
HHAT % If'A$B' means A is brother of B, R 'ASB' 1 39l & R B H T A B,
'A@B’ means A is wife of B, ‘A@B W I ¥ HBA TH AR,
'A#B' means A is daughter of B and 'AHB' I C-?‘l%f Efr B XA AR N
'A £B' means A is father of B. 'ALB F el ¥ fr B o A R
Based on the above information, which of TR e weEl § 9@ w-w we W
the following alternative represents the g B S R H K ¥
correct group of symbols that indicates the < # =\ % ’
relationship for ‘K is father-in-law of H*? ‘
1. H@JSL#PLK 1. H@JSL#PEK
2. H@JSPELHK 2. H@ISPELHK
3. H@ISL#KEP 3. H@JSL#KEP
4. H@PS$JELEK 4,  H@PBIELAK
. A B C b , ‘ S
A
LA
§' g 2. B Directions: (Questions 18 - 20) : ﬁ‘&m (997 18 - 20)
4 D 3. C The following figures represent students frefafea sl 39 fqanfdel =) frefim
4 D who can play, sing and dance. : FE S B, W T wwd R

15, Find the missing number *? in the figure

given below:
qreal
D « Play
3 4 g 6
N IR EREAEE NI ERE
3 5 4 o - /E E«Sing
g I
1. 30 L 30 '
2. 32 ’
2. 32
3. 33 2 '
e 3. 33 18. Which part of the figure represents 18. sypfi = wH-w W o frenfdl @l
4 35 students who.can sing and dance? frafum S ¥ 9w e e T 87
16. If MOBILE is coded as DFBICE, then . 16, @ MOBILE % %2 DFBICE % o .
CHARGE is as: R -
RGE is coded as: CHARGE %1 &7 #1 gm? 1. F I F
l. CHBXQE . 2. C 2. ¢
2. CLARTE l ESEE{(IQ[E 3. FandC 3, FaRC
3. CHAIGE aA ; 4. Eand G 3
4. CHIAEF 3. CHAIGE + BSG

AR Aol e ¥ den o

13-{5-MAT-ENG~HIN

4. CHIAEF

13-15-MAT-ENG-HIN




19, The number of students who can play is
more by 'a' than the number of students
who can dance; and the number of
students who can do. both playing and
singing is more by 'b' than the number of
students who can do both singing and
dancing. Then what is the difference of the
number of students who can only dance
and who can only play?

a+b

(2a-b) or (b - 2q)
(a—2b) or (2b - qg)
(a—b)or(b-g)

BN~

20. It is given that the total numbers of
students - in all the three disciplines are
same. Also, sum of the number of students
who can only dance, and twice of the
number of students who can do both
singing and dancing, equals the sum of the
students who can do both singing and
playing, and the students who can do both
dancing and playing. Then which among
the alternatives is a correct statement
about the number of students who can only
play and those who can only sing?

L. The number of students who can only
sing is twice as many as the number
of students who can only play.

2.. The number of students who can only
sing is equal to the sum of the number
of students who can sing and dance -
and the number of students who can
only play and sing,

3. The number of students who can only
play and sing equals the number of
students who can only dance and
play.

4. 'The number of students who can only
dance equals fo the number of
students who can only sing,

13-15-MAT-ENG~HIN

9,

20.

a@ﬁ'ﬁ)’f‘ﬁfﬁ?ﬁwﬁ'a'&fw%; aik
@%ﬂﬁﬁﬁmﬁﬁ@aaﬁ?mﬁ
W&%,nﬁﬁwwm@ﬁmﬁiﬁ?ﬁ#@n
g A b sfaw ¥ oge, Faw am
WHY At ol her Wl W A P
wt sl ¥ i w3

a+b
Qa—b)= (b 2q)
(a—2b) (2b - )
(@a~b)A (b~ qa)

B -

& Fe T A wE A R
T W WA} W @, e gy
mﬁaféﬁﬁmawwsﬁxm,w

ATHE R 1 7w, R T e § @
ﬁmmmmmﬁmﬁ’m‘fﬂﬁm%'m
TR, W daw W wwd ¥ ok 3

1. meﬁaﬁmﬁﬁﬁﬁm
= PR # den @ gE 4 @
¥ B WA B

2 meﬁmﬁmﬁfq}'aﬁ.mm

3. o B iR m w art frfh

RIS ECE &R TR EIc]
Tornfelel = W % w3

4. SR T WY A R 9 e

Wmmarﬁﬁ»rarfﬁa‘faﬁmé;
T B

21, Complete the following series

1,~8, 81,2, 15625

~1022
-~1024
-4094
—4096

Ealbadi sl

22. Yaibiren is standing 4 metres East of

Rajib, who is 1 metre North of Achira. If
Sahibah is standing 3 metres South of
Achira, then in which direction of
Yaibiren, is Sahibah?

North-East

North-West

South-East

South-West

EESIE NI

23. Which of the following diagram indicates

the best relationship among men, fathers
and teachers?

ERORSE
DOow>

24, Ishan wishes Irfan ‘Good Morning’ when 24,

the hour hand of a (measured clockwise)
clock is positioned betwéeen 9 and 10. The
angle between the two hands is 145°. The
time shown by the clock is

I. 9.08 AM
2. 9.10AM
3. 9.12AM
4. 9.15AM

13-18-MAT-ENG-HIN

21, Tt doft =) qu =

22.

23.

1,-8,81,7, 15625
1. -1022
2. -1024
3. 4094
4. -4096

aifatt vfad @ 4 de g W ww mw
Tfye s @ 1 e IWoW i wer
e e At R 3 e <
wet 2, @ e aEfiA & feg s

-
-l
wfagor-gd
gfaror-afy=y

bl ol A

ENWE
o Ow>

THA H Y T wear § oE )
iimﬁé.areﬁgé (=feponerd =R gw) 9.31‘%1
10 % s § feom %1 wE W <A wed w
g w1 w1450 |1 we g R S
R R
9,08 W:

9.10 Wr:
9.12 Wdl:
9.15 T

bl o a



29, If the ninth day of a month is four day 29. spr freht =d w1 Hen R e W =R

25.1F <15 + 10 g . . , eatlier than Thursday then what day wi‘lyl it &7 e wew 8, 9 3w w9 Wed R
. means 3'; ‘6 x 3 means 9; 25, apy <154 10 =1 312 5° 2; 6 % 3 =7 3pef 9 be on the twenty third day of the month? -
‘8 + 4 means 32°; and ‘12 ~ 2 means 6; % gq of 320 & WO 12 -2 % ared R T
then what will be the value of 3 T4 S ’
27+ 81 -9 x6? 6 & 274 81 -9 x 6 & UM T B R —
1. Monday '
1 36 36 2. Wednesday 2. FUER
2. 24 2. 24 3. Friday 3. W"IW’W
312 3. 12 4. Sunday 4.
4. 6 4. 6
. : v ‘ . 4w fag 2 @ wWE W
26. Which number will replace the “?* in the 26. Tr=forfag sE ¥ wmh-d den e B : 30. Which number replacis that question mark 30, jﬁ:iﬁam&'a et
following sequence? I W ST ‘2" in the given figure? ' - ) i
5.7,14,24,42,, 119 5,7, 14,24, 42,7, 119 '
1. 71 1. 71
2. 67 L2, 67
3. 65 3. 65
4. 63 4. 63
27. What will be the missing term “* in the 27, § Aot S o B w s
given series?
AK, FP, 2, PZ, UE, 7) AK, FP, 2, PZ, UE, ZJ
I. KU I. KU
2.7 2. JT
3. U 3. JuU . 4
4. KV 4. KV 1. 4 2 .16
2. 16 ’
3 18 318
28. In a family of four members there is 28. W el 97 v ufem o oy, om, @@ 4, 22 4 2

father, mother, son and daughter. When

sorted according to decreasing order of R o ¥ Y W A

their ages, the order is father, mother, son R, A 31. Find the missing value ‘?” in the following 31. Fr=ifofiaa soft & qf@ gen <2 wowmy;
and daughter. The difference between the T frer ol e = Y W SR S HY B ‘ series: 13. 34. 74. 2. 290
age of father and mother is 5 years. The i 7 ¥ 13, 34. 74. 7. 290 . T
difference between total age of male TE ) R .a;ﬁ ¥ oy . 3342,
members-and female members is 15 years. F SR 1S o B wer A, s @ P g 1. 168
Also, the total age of children is 20 years, 209 81w, Y w oy 3 L 168 2. 170
then the age of the son is . :33 ;;g 3. 172

: 4 174 4. 174
1. 10 years Lo1oad '
2. 15 years 2. 157
3. 20 years 3. 209
4. 25 years 4. 2579
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32, What number comes in place of *®* in the 32, q 7 ampfy N v ¥ wE W W-q den © 34. Five friends P, Q R, S and T read a 34, wiw fislf P, Q, R, S 3w T € GUER 95
given figure? ST newspaper. The one who reads first gives T ¥ wed ved ve wen 99 R W W
' . . ‘ it to R. The one who reads last had taken it %I' T g — :ﬂ} PR Y TR
; from P. T was neither the first nor the last : : I\ S p %
’ one to read. There were two readers kil :{ Gl :mf‘aﬁ el W‘ rQ P
5({413 between Q and P. Who reads the g 4 7 wew ) anfet ¥ worew w oW
newspaper last? e 27
614171212
[7]2]1]2]3]3 1] P Lop
2. Q 2. Q
6131°15]4 3. R 3R
91613 4. S 4. S
L9 Lo 35. A clock shows 05:45. A plane mirror is 35, W gt ﬁ 05:45 o9 ¥ wF wHaw gU0 ‘9@3
2.8 2 8 kept on the right of the clock, with its W et e v T R, oo W e -
3.7 3‘ 7 plane perpendicular to the face of the ¥ WE W ehae 81 %du § W% whiids 8§
4. 6 i 6 clock. What time will be shown by the T W R
mirror image? :
1. 06:45 1. 06:45
2. 05:15 2. 05:15
33. The  following  figures  represent 33 Frefafen stepfrl 3% o & o s ] 3. 0613 3. 06:15
information given against them. Lo 4. 07:15 4. 07:15
Total number of stud ¢ e 4 oWy ww W . ! ‘
[:] ofal number o S“'d‘f"ts.th’ D . , 36. In a’certain code language "Kolkata is 36, wr faow He Wil ®, "Kolkata is cultural
applied for Board Examination. EEL g e . cultural hub of India" i ded’ i i
a2 ' ' ub of india® is' coded as hub of India" % "a2463p" % ®9 ¥
Total number of students who e aafas wv @ "a2463p" and "Mumbai is financial hub foran ST $; "Mumbai is financial hub of
actually appeared at Board Sufter g fenfiey =t T e f of India" is coded as "Y3472B". Then in 2" & . um"a;;s llla:;.ﬂma o
Examination. - the same language "India is hub of India 134728" % w9 S
O Total number of urban students O W e ¥ B"ﬁﬁ-ﬂa ¥ Wl democracy" may be coded as e, whoww W "Inqia is hub of
who  appeared at  Board fernfefY #t ww wem , democracy” ! 9 ®v ¥ famn 1 g
Examination. . ; 22 !
D Total number of students who E’ ﬁﬁqﬁwﬁgﬁﬁ@wﬁiﬂaﬁ 1. «2439 L a2439
qualified at Board Examination. He e ) 2..243Y7 2. 24377
Based on the above information which of o 3. B3249 3. B3249
the following figures represents the above Frerfeafan st & @S- PR SR 4.-32p47 4. 32B47
facts? R 7o el =) Frefim s ,
37. Which letter is midway between 13" letter 37. % Ry apm ¥ w-m e aRf @ik
1. - 2 from the left and the 4™ letter from the 139 @eR wew <l ok @ A R % G
i right in the sequence given below? e F gem EY)
USBEYFHKOPRAWCGIMQDIVLNTXZ USBEYFHKOPRAWCGIMODIVLNTXZ
1. O 1. O
3. 4. 2. Q 2. Q
3. P 3. P
4. M 4. M
. 12 < 13
13-15-MAT-ENG-HIN . 13-15-MAT-ENG-HIN




38. Which of the following figure(s) can not

39.

40.

be drawn without either lifting the pen or
re-tracing any line?

/\
XX

Only A
Both A and B
Only C
Both C and D

B -

Find the missing values in place of the 39,
question marks in the given pattern.

38,

ﬁﬁﬁﬂ%ﬁﬁ@ﬁmmﬁm

C D

FEe A
A#RB I
et C
CIRD

Eali ol S

@mﬁﬁﬁmﬁ@%mmw
T{HHHTQ'

Z
18
What will be: the missing number in the 40.
given series?

1332, 732, 348, ,36, 12

1. 32

2. 132
3. 148
4. 216

%, 13-15-MAT-ENG-HIN

? 34
8 21
? H
N
L
N
2 10
M
13
'z
4. Z

RURER Il e R o )
1332, 732, 348, ,36,12

I 32

2. 132
3. 148
4. 216

41. Find the missing term “?’ in the given

41 9§ "/ gl ¥ uw w0 g o

figure.
IIZ
D,
?
A, Y

I. Nig L Ny

2. Py 2. Py

3. 024 3. 024
4. Qe 4. Qe

43, If, . 42. 3FR

a>b, a>b,

a>0, a>0,

andb 0, aRb 0, &,

then which of the following statements is

always true? % -
Ioaxbp>0 I axb>9
2. axb<0 2. axb<0.
3.+ ax b is undefined 3. ax b it ¥
4. axp>0 4 axps0

43. In certain coded language 43, Teret we e o,
‘way to win’ is written as AAaa aaaa ‘way to win’ F1 AAaa aana AAAa ferEn
AAAa, w8,
‘Go to Walk® is written as Aasa aaaa ‘Go to Walk’® &} Aaaa asaa AAAA T
AAAA, ST & :
‘Get up early’ is written as AaAa AaaA ‘Get up early’ %1 AaAa AaaA aaAA T
aaAA. ST € ' '
Then, how can “Always go to morning @ “Always go to morning walk early’ %!
walk early’ be written in that coded w2 Y ferr S '

language? '

1. 2aAA Aaaa asaa aasA AAaa aaAA
2. aaAA Aaaa aaaa aaaA AAAA aaAA
3. aaAA AdAa asaa a2aA aaAA AAaa
4. aaaA AaAa asan aaAA AAAA aaAA

13-15~-MAT-ENG-HIN
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o Frefate ﬁﬁaﬁa—m#mu&aw

aaAA Aaaa aaaa aaaA AAaa aaAA
adAA Aaaa aaaa aaaA AAAA aaAA
aaAA AaAa aaaa aaaA aaAA AAaa
aaaA AaAa aada aaAA AAAA aaAA

B =




44, If + means x; + means ~ =~ means +; and 44,

43.

46.

47.

RSN

X means +, then 2+ 12 x4 ~6+6 s equal
1o

B Oy O

BN =
AN

In the given equation, which two numbers 45,

in the expression on the 16t hand side will
be interchanged . to form a correct
equation? :
SH4x8+12~3=3

1L 3,5
2. (4, 12)
3. (3,4
4. (8,5

fa, b, ¢, d, and ¢ are positive numbers, 46,

and it is given that,
a-+b=c+d,
b+d=2q,

d+e> g+band
ctd>a+te

then, which of the following statement is
true?

. d>a>b>e>¢
d»bz>e>a>¢
arh>c>d>e
ax=d>b>ex>c

ool

Kashvi facing towards rising sun turned to 47,

her left and walks for 60m. She then
turned to west and walked for 15m. Then
she turned towards left at an angle of 45°
and reached 95m from her original
position. How much total distance did she
travel?

1. 95m

2. 115m
3. 155m
4. 175m

13-15-MAT-ENG-HIN

R+ oaed x & - e - % - o
G+ ol x ot + R W24 12 x4
6+ 6 FREE SR 27

1.0
2. 6
3. 12

4. 49

&y T wilemr F, 9Ri sk ¥ ur § fww
& wemel W ae-aEel 9§ wdt weEe
T4

54+4%X8+123=3

1.-(3,5)
2. (4, 12)
3. (3, 4)
4. (8,3)

IR g, b, ¢, flme%wwéaﬁt
78 feay o 7 R

atb=c+d,

b+d=2a,

d+e> g+p3R

ctdza+e

A Frefafes & @ SF-wr s w9

I d>a>hp>e>c
2. d>b>e>g>¢
3. gxbre>d>e
4 axd>ph>e>c¢

i T H WE e e wE s
St Tl SR e 60 e wom 2 fe
a8 ufrEn W R gEeT 15 et wert
EF WA 9w HR 450 @ o
et 8 ol R A TR @ 95 et
T wgd S E I g fhad ol wr

27

1. 95T
2. 115
3. 155 e
4. 175 et

SI07 TREN 9—-MAT-Eng-Hin-28

48.

49.

50.

A cube is coloured on all the six faces with 48,

six different colours -~ black, brown, green,
red, yellow and blue.

e Red face is opposite to the black face.

o Green face is between red and black
faces. )

o Blue face is adjacent to yellow face.

e Brown face is adjacent to blue face.

e Red face is in the bottom.

Which of the following are adjacent to

green?

Black, yellow, brown, red

Blue, black, red, yellow

Red, black, blue, yellow

Yellow, blue, black, red

e

A watch gains 10 seconds in 3 minutes. It 49,

was set right at 9 AM.  In the evening of
the same day, when the watch indicates
half past 6 'o clock, the true time is

5:30:00 P.M.

1

2. 5:48:10 PM.

3. 5:58:20 P.M.

4. 6:08:20 P.M.

Given x is real and that 50,

(A xP=49, (B) x=343,
examine the given alternatives in respect
of arriving at the Conclusion: x-= 7 and
find which is valid

L Only A is sufficient to answer the
question )

Il Only B is sufficient to answer the
question

HI. Either A or B alone is sufficient to
answer the giestion

V. Both A and B together are sufficient
© toanswer the question

I

i

Hi

v

Rl b
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/

W T % 6 HAh] Bl 6 S-S i @
W T #- wven, s, ww, @, e ek
e

o T WERR HIS wEH o wlge @
N ET[%W @ A W Ferw F oA
|
o siien o Wi wEE & wWora §
o U W el Wew %o
T s SNEM qer N R
%ﬁwfaf@aﬁﬁﬁa«m W%’i%w
?
1. e, den, U, e
2. <ften, Fen, e, den
3. oI, wE, Hen, dier
4, den, e, wen, o

T T W 3 e ¥ 10 gohe o @ W
2w ud F wE: 9 99 W wmg 92 e
wmsﬁ’r‘a:rwmﬁm‘a@ﬁméaﬁ
= T @, o u g e

1. 5:30:00 P.M.
2. 5:48:10P.M.
3. 5:58:20 P.M.
4

6:08:20 P.M.

fear o & % xw aratae Hew § qun
Ay x*=49, (B)  x°=343,

T @ o Frewd oA W ¥ fr
x=7%, mmmaﬁrmwm
TW I

1. W % fow Saa A wala &

Il ¥R & fag e B wiw §

111 30 % Torg A sveren Bl &
IV, 3 % oy A @i B wra-wer waiw ¥

B -
jannd



5L Find the values of ‘¥’ and ' fom the 5L fF @ wd angfy @ 90 oK 0 R AW s

52.

53.

figure given below

65, 150
46, 125
56, 156
56,165

naaiadl S el

In'a cex“tainkode ‘COUNTRY’ is written 52,

as ‘ZSUOVPD’. How is ‘TEACHER’
written in the same code?

SUTIFED
REHCAET
QDGBDS
SFIDBFU

W

What number should replace the question 53.

mark?

65, 150
46, 125
56, 156
56, 165

I
2.
3.
4.

el o2 W § {COUNTRY? %!
‘ZSUOVPD foran wrar 21 56t o won &
‘TEACHER’ &% forar s 27

SUTIFED
REHCAET
QDGBDS’
SFIDBFU

B

T T W T W - e s

15

P o
. —
W
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3 JY
1
&
3 17 \_/
12

I 15
2. 14
3. 13
4. 10

54.

55.

56,

57.

BN -

Directions: (Questions 54- 58)

A, B, C, D, E, F and G are seven teachers.
Each one teaches only one and different
language from among Konkani, Hindi,
Malayalam, English, Manipuri, Tamil and
Kannada on different days of a week.
C teaches Malayalam on Friday. B teaches
Konkani on the next day of the day on
which the concerned teacher teaches
English. F teaches on Thursday but neither
teaches Hindi nor English.. D teaches
Tamil on the previous day on which day
F teaches. A teaches Kannada on Tuesday.
G teaches on the next-day of the day'on
which the concerned teacher teaches
Malayalam. E does not teach English.

Which subject does E teach?
Tamil

Hindi

Manipuri

Malayalam

On which day B teaches?

1. Monday
Friday

2
3. Wednesday
4

Sunday

Which language does F teach?

Manipuri
Kannada
Tamil
English

Eal e

Which [kanguage does G teach?
Hindi

English

Kannada

Konkani

B
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54.

55.

56.

57.

Trdor: (v 54- 58)

A, B,C, D, E, F 3R G Wi forames &1 wieoft,
"G, wemem™, i, afrgld, afver w
g WS F W wer frew www &
FA-T [ wF e W wgEn g1 ¢
IR T AU R $1 S @ Heaw
fremr o R @St wr ¥ swF e
W%BWW%FWE{%
W%W%@ﬁﬂwmﬁm
%1 form R F wrm 2, wod wF B wed D
aﬁaw%AWﬁEﬁ:@m%!
s ¥ wEg e % aeEen weE %
% et R G wemn %1 E s wet
EC

E %W a1 forer wemn 27

13317

B fra f& ugrr 22

Bw 0 -
+o
3

W N —

1L &
2. o
3, wg
4, it



58.

59.

60.

61.

62.

On which day D teaches?
. Saturday

Tuesday ‘
Wednesday

E

Thursday

One morning at 8 A.M. Navneet and
Ravneet were standing on a lawn with
their back towards each other at the
distance of 100 m. Navneet's shadow fell
exactly towards his left hand side. After
15 minutes, Ravneet turns = 135°
anticlockwise. Which direction Ravneet is
facing now? '

1. North-East

2. North-West

3. East

4. South-East

Find the missing number
2,3,7, . 2112
1. 36

2. 45

3. 46

4. 49

In a code BH = 16, DO = 60 and TA = 20,
then the code for BAT =2

BN
e
<

. 60
The figure given below is prepared by
some sticks and provides an equation that
is incorrect. How many minimum numbers
of sticks must be removed from the left
hand side to make it a correct equation?

HiN
117 +

(ro——

1
2
3
4

P =

20

13-15-MAT~ENG-HIN

58,

59.

60.

61.

62.

-
ninis

D fFu & wem 87

1. e

2. HTHER

3. guER

4. TwER

T R e W 8 9w, wea @i W

L L e i N R R I

T 100 HX T 5@ | @2 A A
% WO HF e §E T w A 9T @
offl 15 e & iR, writg o feen
135° [ @1 W o1 9@ o fea R
27

1. SW-7

2. IEC-ui=m
3.

4. o
i e AR
2,3,7,

36

45

46

4. 49

o fFdt %z § BH = 16 2 DO = 60 ¥ sl
TA=20% & BAT =9

20

30

40,

60

H & 7 wied ¥ San awh T e
W FE F W TR ¥ o9 AR Y =
fert ofedl & w1 B 9 o o T
e E? '

;2112

hadi R

i o

AL B
B S

63.

64.

65.

If 63578 is to 1415,
56732 is to 185,

and 34124 is to 86,

then, 72648 isto?

1. 1215
2. 1415
3. 1512
4. 1514

Two friends Mr.
according to figure 1. The two friends then
interchange their positions as given in
figure 2.

2w Wall
EiE

63.

A and Mr..B stand  64.

IO 63578 : 1415,
56732 : 185,

s 34124186 %,

W 726487 Bt

11215
2. 1415
3. 1512
4. 1514

T TR A A SR e B ety 1
Fewre T wpEt v ¥ R < et
MFT 2 o SFER SI-IF TR BT

aRE-aEl W o B :

130 cm

Figure/amafa- 1

The height of the wall f dlvwr rom the
ground is

1. 115cm
2. 120cm
3. 127.5¢cm
4,

130 cm

In a. certain coding scheme, consonants
and vowels are coded differently as
illustrated below: )

C is coded as 6.

Z is coded as 52.

E is coded as 9.

O is coded as 29.

Then find the sum of numerals in the
coded version of FAITH.

Ralball bl
oo
1o

21
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65.

Figure/3TpH-2
ST @ SR s s feeh 22

. [15¢cm
2. 120 cm
3. 127.5¢m
4. 130cm

forch @ deen o, @l ol Al W
arem-srer Wit W e w2, S A
frgrn mr &

C & 2 67

7.1 %e 52 B

E &1 %2 9§

O %1 e 29 8

FAITH % ¢ &Y 9 TRART g Y& &1
A waE)

Ealhatt el
o0
>




66.

67,

14 years of age. Out of the remaining
students 10% are of the age 14-15 years
and ratio of students who are between
15-16 years of age to student above 16
years of age is 3:2. If the number of
students who are above 16 years is 72,
what is the total number of students in the
class? '

1. 200
2. 250
3. 300
4. 400

Study the figure given below represenﬁng 67.

a particular number in a coded manner,

In a class 20% of students are below 66, Tmdl wan 20% Fereneff 14 Wt wt ey @

ﬁﬁ%wﬁzqﬁmﬁﬁﬁﬁlmsﬁam

1415 W@ 3; &R 15-16 war % 9 5

3G A 16 W W iy oy A Rrenffay
T dee w1 erue 3:2 §1 aR 16 @ ©
ity o/ oI Rl w5 wen 72 € @
e o faanfiat w1 dear w32

200
250
300 ,
400 .

P

ERECO R T e e o
T gema w wg v ¥ mhl w @

®
®

lpl

for example, the number 6825 coded
-by the following symbols-

Based on the above information find the

number coded for the following symbols.

63205
11309
11523
65230

L

22
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ST F e, WEm 6825 W freffe
m%ﬁ@ﬁmﬁi@mﬂm%: ‘

N

wE W s, SR e e et 9
Frefm et 2.

63205
11309
11523
65230

Bt S

X . S N
68. Five friends decided to play a game of 68. dfe <l o ¢

69.

padminton. Each of the five plays against
every other friend. The winner gets two
points for each game he or she wins and
the loser gets zero. Then which of the
following cannot represent the scores of

five friends?

1. 4,4,4,4,4
6,44, 4,2
8.8,2,2,0
6,6,4,2,2

EN N

Study the given figure and answer the 69.

following question

W A Y W W TG % g
1 gaml fasl 1 TR B S W R 8w

ol T we W vy A,
- fyfafes § @ wE-w fokey o Al %

st 1 Frefom T e wear
I. 4,4,4,4,4
2..6,4,4,4,2
3. 8,8,2,2,0
4, 6,6,4,2,2

T & W erE H SR F WA H
IW I '

Let x denote sum of numbers present in at
least 2 circles and y deno?e sum of
numbers present in exactly 3 circles. Then
x—y=

11
25
36
61

oW

23
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T G x wM W w9 2 g F fem
el & A w gfew W g o y S
3 ot § wufeers wemell & Am W gl
s D x—y=__

{1
2. 25
3. 36
4. 61




70. Choose the correct mirror image of the

. o 4 70, Y

g)llowmg figure, if the mirror is placed as 0 3 ar?ﬁa FwE <oy e gy

hown. wﬁwﬁé@gﬁr@m,w% 72,
@R T g .

71. Observe the figures given below:

ARANAT
+ Y0

Ba.sed on the above figures identify the
correct group of categorization?

STHH SHRRT % MR W ol % wE

YR ol G B2 i
Lo 1,3,6; 2,4.9; 57,8 :
2. 1,23, 4,58; 6,79 . 2- 1,3,6; 2,4,9; 578
3068 3,59 247 s 1,2,3; 458; 6,79
4136, 2,57, 489 ‘ - 16,8, 3,59, 24,7

4. 13.6; 2,57, 4,89

13-15-MAT-ENG-HIN “

73,

Raju invited friend George for a dinner at  72.

his house. When George asked for the
direction of Raju's house, Raju gave him

“the following instruction:

Proceed 140 metres south from your house
then walk 200 metres to east. Then turn to
north and walk 100- metres. After  that,
walk 160 metres to west.

What is the shortest distance between the
two houses and the direction to Raju's
house from George's house?

402 metres and north-west
402 metres and south-east

80 metres and south-east
80 metres and north-west

e

& W

In a code language if ‘APPEAL’ is coded
as ‘256572 and ‘PLAY’ is coded as
“7259° then in the same language
“PEARL’ will be coded as (each number
code stands for unique alphabet)

1. 25768
2. 25387
3. 67522
4. 25679

Directions: (Questions 74- 76)

Five students Ujith, Mahi, Rizan, Sahir

and Amelia appeared for an examination

in English and Mathematics.

1. Sahir scored more marks than Amelia
in Mathematics but “scored less in
English than Ujith and Mahi.

II. In Mathematics Rizan score‘d' mote
marks than Amelia but less than what
Mahi has scored.

1. Amelia scored more than Rizan in
English and Rizan scored more than
Mahi in English.

. Ujith scored more than Mahi in
Mathematics but less than Rizan in
English.

V. Sahir scored less than Mahi in

Mathematics.

13-45-MAT-ENG-HIN

73..

% e fin W W U % e
i o S S Y U9 SRR
ot g1, @ e A sy Frefefed fde R
S R @ 140 Het s s g, W
200 e wd F 2l T T A A AT
i g 100 et =Tl FEn wEE, 160
e i @ SR ==

o W F W e gl e S @
Y U F W HT feen @ ¥?

1. 402 et e se-ufeey
0. 402 et aer wfe-gE
3. 80 et wu afeor-d

4, 80 e den Tae-ufe=m

farely sz o o, ST ‘APPEAL’ 1 72 §
2565727 A PLAY’ &1 % ‘7259 ¥, @
= W § CPEARL’ W1 g BT
He W T O AR YA §)
25768 '

25387

67522
25679

Falbadl S dia

frefor: (¥t 74- 76}
fereeft ofich we wiom T whan W wiglem gu

L W, wfe ) emfer ¥ s w
SRt A Shwg ofK TRl © FW ¥ WD

oy ,
L i W, fom v emfen ® et g

W@@wwwmn

11, et W, smifern 3 R @ sf 3R
T 3wt o aafusr o Tl

. st 3 a § vfra § etfues g ST
A o § &5 3fe

v, T oY al @ & $E



77. The third day before 1st January 2019 was 77,

13~15-MAT-EN G-HIN

74. The least scorer in Mathematics and top 74, v E”ﬁ ki LT q S o Wit ot KiEl

scorer in English are respectively Bl

L. Sahir and Ujith I\l sii afvm

2. Amelia and Amelia 2. amfern s sTferm
3. Ujith and Sahir 3. sfow sivafe

4. Ujith and Ugith 4. 3f%a svshvg

75. Which of the following cannot be 75, Frefafen & ¥ g Frfer =t faan

determined? RET ¥

L. Amelia scored more than Mahi in L Sisht % smifermy 3 T W Al op
English, 4]

2. Mahi scored more than Amelia in 2. R § mer R 9 Aw o
Mathematics. ) - Ty )

3 Sahir scored less than Mah; both in . .

- Mathematics and English 3 TR SR, R Y w3 o g

4. Ujith scored less than Mahj in W W Bt .
English. _ 4, @ﬁ;ﬁﬁeﬁa%w@:@mmm:

76. Which of the following " is necessarily 7g, Frefefas o ¥ Fr-qr FUT TR w

correct? ) &

L Rizan scored more than Sahir in L wfog o figm 3 ey & sifyes SiC o]
Mathematics.

2. Ujith scored more than Sahir both in 2. 3?}{ o, S 1 W
Mathematics and English. e i R

3. Sahir “scored more - than . Ujith - in 3. T % Wiy s Y e sim -

Mathematics, S T A
4. Rizan scored more than Ujith both in - 31“}1 T A A #
s 3w ) .

English and Mathematics.

b

Iaﬁaﬁzoméﬂﬁqﬁﬁ%ﬁwﬁww

Saturday. Which day will the fourth day of & 2020 % e 7 71 g

March 2020 be?

L. Friday L ygpar

2. Saturday 2. vifEr

3. Wednesday 3. R

4. Thursday 4. TEER
26 .

78. Observe the given figure below

79.

78. {2 & smepfy b evaviRT W

b 49!

Eiicl
H@*ﬁr%wwmmﬁﬁmm
fgat A, B, C, D, E, F &R G ¥ sifersman

Based on the figure how many maxxmlfn;
numbers of triangles can be formed wit

: S T SR 87
he seven points A, B, C, D, E, F and G? 1%539{ ﬁ[E—T CCied
" 1. 21
) 3 N 2. 24
2. 24 >
T 4. 36
4. 36
EalE L]
TS - AR
Find the ‘correct mirror image for the. 79. :ﬁ%{.é’r EE) . k
following problem figure from the Wi g
alternatives. ‘ | |
A B c D
I. A
2 B 2. B
3 e 3 C
3 C e
4. D

@Wﬁmaﬁ?ﬁtwﬁﬁmw%l

, ) . 0. 3
80. A circular disc is cut into two pats. One 8 s ¥ uF A o T ek % w4 ¥

of the parts is given as the question figure.

h th 11? Select from the ﬁ:‘@ g1 % IUH %?{'\‘f qr $ - %? )
‘ 1
Which is the other pal ? ]

famedi ¥ W W oTER TN

options. ; @
: \g/ D
s . [
: B
A 1. A
A 2. B
2. B 3. C
. c 4, D
4. D

27
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81.

83.

Two figures on transparent sheets are
given on the left side. When the upper
figure is exactly placed on the lower
figure, find from the-option figures how
the resultant looks like.

0B
T O w >

:l‘s

from the alternatives which completes the -

pattern.
B
e

A
2. B
3. C
4 D
Find t.he correct water image for the 83.
following problem figure choosing from
the alternatives, a
]

Water TN
A
2. B
3 C
4. D

13-15-MAT-ENG-HIN

A

8L od o ureell W w W @ awphi @

S S et st ) T vy Y
A el empfe w W@ R sig, & oo
SRl el fgehy

LA
2. B
3. C
4. D

2. Find the missing part of the given figure 82, <9 R sy W wE ¥ et L
3 T

aqw a w gfen il Yt g e wh

B

. A
2. B
3. C
4D

A @ woen s w1 Beed N © o
st whatsE g

Directions: (Questions 84-88)

In the following. question, there are
statements followed by conclusions.
Choose 'the conclusion(s) which must
logically follow from the given statements.

84, Statements: 84,
A.  Some grandmothers are mothers.
B. Some mothers are daughters.

C. Al the daughters are married women.

Conclusions:

. Some married women are mothers.
1l. Some daughters are grandmothers.
\{l. No daughter is grandmother.

IV. Some mothers are grandmothers.

Only fand 11

Only Il and I
Only land IV
Only I and IV

Falb el )

A. Some students are smart-working.
B. All Intellligent are smart-working.
C. All the teachers are students.
Conclusions:

1. Some students are Intelligent.

1. No teacher is smart-working.

111 Some intelli gent are students.

1. Eitherforll

2. Onlylandll

3. Noneof], I} and 111
4. Onlyand il

29
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85. Statements: , 85.

Tordor: (99 84-88)

frefefas ol o o s R Fed R
e ¥ Pred o W R T W S SR
W afeE 'Y W g

;ﬁ%ﬂ:

A, FB e 3

B. s W PRl 2

C. e it famien i
Forenet:

| o Fmf e mad 2
L o gfE R

. o < wd

1v. %5 mE a8

1. el @il

2. e Il SR

3. el SRV

4, FEe | ARV

HUA:

A o faenedt e @ w6 O A 2

B. weft gfgaR don § e w0 A

C. @ farn Rl 8

Proad:

I e foered gigam

L W o foaw doa @ F FE ARl
- 2

1L o gfgar, e 8

Loma
2. el e
30 1, e g | e
4, pFer 1 S




86.

87,

88.

Bwy

Statements:

A. Some students are orators,

B. Al orators are goalkeepers.
C. Some goalkeepers are honest.
Conclusions:

L. Some students are honest.
II. Some goalkeepers are students.

Only conclusion 1

Only conclusion |}

Both conclusion T and I
Neither conclusion I nor [[ *

Statements:

A. Some men are women,

B. All women are teachers.
C.  Some teachers are doctors,
Conclusion:

I Some doctors are women,
II.Some teachers are women.
. Some teachers are men.
IV. Some doctors are men.

Only Land 11
-Onlyland IV

Only H and 111

Only Il and 1V

B

Statements:

A. Some candidates are students,
B. Al children are citizens,

C. All citizens are candidates.
Conclusions:

I Some citizens are students.

Il Some candidates are children,
IIL. All children are candidates,
1V. No child is student. .

Only Iand 1]
Only 1 and 1]
Only Il and 1V
Only I, 1 and 111

AW
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30

86.

87.

88.

BN -

el freny |
o Frewd [
frewd 1 oiv 11 2

HRAT

A FT %Y ufard &
B. wft wfgond foeer ¥
C. oo Rwwm fafrgs )
=178

L 59 fafreus ofsemd 3
Il 5 R afsent §
. ¥ foers 1ow £

V. ¥w fafhs gow ¥

1. eEer ] sl yr
2. oEd [ eIV
3. e 1T ik Ir
4. HEE 11 $R IV

R

A BB Feff fymef ¥
B wft o= mifte ¥
C. uft TiRw areeff %)
Treme:

L %o e faeeff
I oo s oes &)
L 95t o9 sreyeff ) »
V. = ween fammeff f 3

L SFeerisivg
2. el el
3. 9l 11 SR 1y
4. AL e

KRR BT R

89, Study the figure given below:

89. <3 & o engpfhn 1 e WA

= 2
l B 1
il ’ —
= =1
A : B Cc b E
3 + g fomm
Find which figure is to be removed, A G YR FW T, maj:f?a -
t‘rﬁng from A, so that all fit into a g, AfE SR el T
sta .
ttern.
. I. B
1. B Yoo
2. C 2 ¢
P 4, E
4, E _
wen foem o
90, What is the minimum  number of 90, f&7i 19 W 999 W L o

un-shaded boxes

to be crossed “for

covering the shortest path from ‘A’ to ‘B

(both exclusive) without retracing the path

and without diagonal movements?

10
It

B

13-15-MAT-ENG-HIN®
SIB7 TREM S——MAT—EHQ—HM«SA ‘

v

(frd) e R g, A W B T T
™ T A W fow, fRe wpee s
W H TR B WP (A’ Y B T w
FIEH)

A

.31

1.
2.
3. 10
4.



91. Observe the figures given below:

9L R & & snepkr W sEeimT W

The odd one out from the given figure
is ‘

BW N -
COow>

92. A river flows along the East-West
direction. On a  particular day in the
morning Kisku was seen at a place ‘A’
located on the northern side of the river
and on the same evening he was seen at a
place ‘B’ located on ‘the southern side of
the river. .
Following are the comments made by four
friends - Paulomi; Mimee, Sabeena and
Grayson. i
L Paulomi said, Kisku must  have

crossed the river only once.

I Sabeena said, Kisku might have
crossed the river four times.

. Mimee said, he might have crossed it
five times. o

1V: Grayson said, he might have crossed
it any number of times.

Choose the correct alternative from the
following:

Only I is correct
Only 11 is correct .-
T or 11 is correct
I and U are correct

b N e
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92.

C ' D

FF-o oMy Wt A @ ore 2

VO
TOw s

T T A o R d we Y o

o &1, we: e w ww @ % weh

W%W‘A’m%@waawwﬁﬁ?
W I T % Sl Rem @ e

wa@w;mwwwmaﬁx

¥ g1 Frefafes feofort @ s

L el 3w, freg A T w s
TR R frar g

L w6 3 w3, e 3 5 @ W W
AN R T wm

L Bl 3 7@, 59 59 wem G ww ur
e B _

V. 389 3 w1, 30 99 wmm feed off s
91 T whmy '

vﬁmmaﬁﬁ,ﬂsﬁﬁmwgﬁq:

I oo | wd @
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3, 1T
4. 1R wR R
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Directions: (Questions 93-94)

in a town of 1000 people, 570 read Hindi
newspaper, 424 read English newspaper
and 254 read Punjabi newspaper. 40 read
only Hindi and Punjabi newspaper; 58
read only Hindi and English newspaper;
and 70 read only Punjabi and English

newspaper. 100 read no newspaper.

Frlvr: (wet 93-94)

wF TR F 1000 @ w@d €, foed @ 570
i et warER e v ¥, Saw 424 @
- ool R v egd € 9 40 O@m
e Reedt sl doreh wEER W 58 @
e fordt el siieh wuraw u; aw 70
T perer v SR S TER 9 e
#1100 w1 wEER o W vy f)

, -
93 How many people read only one 93. fed @i Fod wH GHER O WER

newspaper?
570
642
914
968

Bow o -

1. 570
642
914
968

AW

94. How many people read all the three 94. Ffrry v dFl & W o g &

newspapers?
1. 40

58

70

90

E I )

95. Complete the given letter analogy. v
LTFQIW : YGSIVD : : DOIYKV : ?

. QBVIXL
2. WLRBCI
3. QLVBXE
4. QBVLXJ
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1. 40
58
70
90

Bowo

95. & g R gou W 9 W

LTFQIW : YGSIVD : : DOIYKV : 2

1. QBVIXL
2. WLRBCI
3. QLVBXE
4. QBVLX}




96. The given pie-diagram shows the streams 96. 9 foor
: opted by students at senior-secondary

fevel,

Commerce

and Management
(e ws weerr)

S . )
(B wigw) ¢
Basic
Sciences Applicd
G |gda) Sciences
AT Figh)

If sum of the angles for, the students who
opted different streams is 144° then the

streams are

Arts, Applied Sciences.

WI\JT“

Basic Sciences,
Management,

Commerce

Basic Sciences, Computer Science.

and

4. Applied Sciences, Computer Science,

Commerce and Management.

97. Four relations have been given as
alternatives (p), (q), (1), (s), out of which
only one becomes acceptable if the signs,
+ and + and the numbers, 4 and 5 are

mutually
relation,
P) 24+8x4=20+5

(@ 20+4x16+5=75
) 3x24+5=16+4

(8) 20 +5-6=3x30+4

L (p
2. (@
3.
4. (s8)
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interchanged. Identify  that

97.

@ fermnfl gr S e v = e &

mﬁfmmgﬁa@mﬁh‘faﬁm
Bﬁvﬁmﬂﬁm"%ﬁa‘rﬁw%

e (), (@), (1), () ¥ w ¥ o ww
Hﬁummwé‘,mﬁﬁwwé
T g, e foRl + et - wen wemet
4aih5aﬁuwm—am”raﬁmnw
EEEES R e R

) 24+8%x4=20+5

(@) 20+4x16+5="75

(r) 3x24+5=16+4

() 20+5-6=3x30+4

L (p)
2. @
3. ()
4. (s)

W S e meafid ww

98, There are 20 steps to g0 to the first floor of - 98.

2 building from the ground floor.

A child starts climbing up from the first
Z?r?\i:; down from the fourth step from
the floor level of the first floor. . "
If both have started at the same time witl
same speed, at which step would they
tmeet counting from the first step from the
foor level of the first floor?

Fadhall e

e following question consists of four
> g?oblem ﬁgur%s marked as A, B, C and‘D.
Select a figure in place of ¥’ ‘for E which
will continue the series established by the
" four problem figures, A, B, C, D.

the ground level. Mother starls

Fret oo % oo A el i 7
forg, 20 wifgal el ¥

™ T e W el @ Y S W
W e w1 AR W ae W el
W @ A v g @

(v @ o wom @ R
:;Rqﬁgiﬁm%,ﬂiumaﬂﬁw‘ﬂ@
e @ firelt & feom 4 3 fhe @d W
firctir?

P
=

99. frafefea w9 AR wueRds enFkEl A,

B,C W DY & 8 A,B,C,ngfvj‘éﬁﬁﬂ
sigenell W W W % R E i & fag
W st

" - - . % ra + }
?
- x ® o+ - - ®
y B IS D g
£
1 2.
. , - -
o +
® +
3. 4,
X 1 - -
* * *
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: Rough Work / ¥ @
. 180. Which one of the following venn diagrams 100. frfafes ¥ et & ,

BT
fepresents the refation among men, doctors ST % ye, el ol W F e
and patients in a hospital? T B Frefi e

amD D

Tow»

BN
BN
DOwe

d
~}
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